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+ Gl o cuef g yaf—(1
d=(3+27) g c=(VB—2) g b=(2-V5)(2++5) g a=+3(V3++2-3)

i lo Jac— 2
h=A15-235 q g=3-v2 o f=-2J14-27 ¢ e=6+23
i Lo by (1

A=2x" +3x=5+2 = 5x+ x5 -Tx+1
B=3x—| —(2x" —4x> + x=5)+ (- 20" +x=5) | -2 41
+ [Sa0 olS o] by o pasf - (2
E =3x(1-x) 4(x+ ) 5 D=-2(2x-\2) 3 C=2(3x-1)
H=2x(3x—-1)(-x+4) ;; G-= (ﬁx 1)(x+\/_) F=(=5x=1)(—x+2)
K=(242 x- )2 J=(3x=7)(3x+47) I=(—\/§x—1)2
=(2\/5x—\/_)(2\/§x+\/§)(8x2+3)
N=3x—(5x-2)(sx+42) 5 M=4x(2x-1)(2x+1)
P=(V2x=5)(V2x+45)-(1+x)" 5 O=(3x—1) —(4x+3)(x~1)
O=(x-3)" —(x+3)(x—=3)—(x+3)’
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b=2x(3x+4)-2x(x+1)+2x 3 a =25abc* —15ab*c —10a*bc

d=4x2—9+(2x—3)(5x+11) ;; c:(x+1)(2x—5)—(x+1)(3x—7)+(x+1)

f=4x"-17 5 e=(2x+5)2—(x—1)2
i=3x"-11 3 h=27"-12+(3x=2)" 5 g=9x*+12x+4—(3x+2)(x+4)

l:9x2+6\/5x+2 5 k:x2—5+(x+\/§) 5 j=(2x+1)2—16

p=4x2—6x+2 3 n=4x"-12x+8 m=2x>-2J6 x+3
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M =(2x=5)(x=9)+4x* =25 (2x=5)" : cu M x| pixo
M by i ysf- (1
M (_J_Q.C—(2

.x=—2\/§ : d.>]‘0.n M ;,Luoi—(3

M =0 : ablzh| J > (4

s ol i+ 2 el
. B=(2x-5-36 q A=2x"-13x-7
B Joc—(1
 B-24=3(2x+1) : ofgn—Q
A soxll Yyos painu] - (3






